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Instructions

@ Use black ink or ball-point pen.
@ Fill in the boxes at the top of this page with your name,
centre number and candidate number.
® Answer all questions.
Answer the questions in the spaces provided
— there may be more space than you need.
You must show all your working.
Diagrams are NOT accurately drawn, unless otherwise indicated.
Calculators may be used.
If your calculator does not have a = button, take the value of r to be 3.142
unless the question instructs otherwise.
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® The total mark for this paper is 80
® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

® Read each question carefully before you start to answer it.
@ Keep an eye on the time.

@ Try to answer every question.

® Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

1 The scatter diagram shows information about 12 girls.

It shows the age of each girl and the best time she takes to run 100 metres.
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(a) Write down the type of correlation.
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Kristina is 11 years old.
Her best time to run 100 metres is 12 seconds.

The point representing this information would be an outlier on the scatter diagram.

(b) Explain why.
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Debbie is 15 years old.
Debbie says,
“The scatter diagram shows I should take less than 12 seconds to run 100 metres.”

(c) Comment on what Debbie says.
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(Total for Question 1 is 3 marks)
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2 Expand and simplify 5(p+3)—-2(1-2p)

5P+IS*QF+P

(Total for Question 2 is 2 marks)
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3 Here is a trapezium drawn on a centimetre grid.
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On the grid, draw a triangle equal in area to this trapezium.

Perea o Feoptziam = "il_%':—-l- x 4
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(Total for Question 3 is 2 marks)
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4 When a biased 6-sided dice is thrown once, the probability that it will land on 4 is 0.65
The biased dice is thrown twice.

Amir draws this probability tree diagram.
The diagram is not correct.

first throw second throw

land on 4

Q=

land on 4

0.65

0.65
not land on 4

land on 4

not land on 4

®

0.35
not land on 4

Write down two things that are wrong with the probability tree diagram.

zP(l—MO‘wtl—)suo-MdbeO(ﬁ _____________________________________________
[cav”\}fcwt‘f\%’wnwaﬂv\mds*\%)

(Total for Question 4 is 2 marks)
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ABC 1s a right-angled triangle.

A

1lcm @

1
C 7cm B

(a) Work out the size of angle ABC. li

Give your answer correct to 1 decimal place.

ces (ABC) =

The length of the side 4B is reduced by 1cm.

sk P = _
The length of the side BC is still 7cm. CO-S '*--“(”'“""'E,')M!" 56
Angle ACB is still 90°

(b) Will the value of cos ABC increase or decrease?
You must give a reason for your answer. ARC |

A3 C "

:7—" :—iéwa”snweare
(&) it 1
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(Total for Question 5 is 3 marks)
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6 There are some counters in a bag.
The counters are red or white or blue or yellow.

Bob is going to take at random a counter from the bag.

The table shows each of the probabilities that the counter will be blue or will be yellow.

| I

iColour ' red | white blue | yellow

! !
;Probabi]ity 2% X ! 0.45 0.25 ;

0.2 o0 4=

There are 18 blue counters in the bag. %

DO NOTWRITE IN THIS AREA __-a:'fjff;ﬁ-’jf-

The probability that the counter Bob takes will be red is twice the probability that the
counter will be white.

(a) Work out the number of red counters in the bag.

C.45 x Toral Cownkers = 19
ch"" Covntetrs = J.E—

o-¢5
e (ro

w
X
\l
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W
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- 2o -\

P wike) =
Plred) = o.2

A marble is going to be taken at random from a box of marbles.
The probability that the marble will be silver is 0.5

There must be an even number of marbles in the box.
(b) Explain why.
LHalE op the poacbies. cve. Silvei... A

,,A,,.@dd; AU dmded ‘7 2 Js. ﬂof o ,,/#9743/
f

}/mi Canpot have ja o Marble M
(Total for Question 6 is 5 marks)
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7 Sol s 0
olve 2 =2x-7
L_-x = 2(22: = 7)
5 -5 ® Yok =) e
3 + X
5 = 5 x =1
X /¥
/7 = Sx
-] S5
/19
= -
i SR 75 -

(Total for Question 7 is 3 marks)
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8 ABCDE is a pentagon.

D

Angle BCD = 2 x angle ABC

Work out the size of angle BCD.

- x 150
You must show all your working. Lﬂ 2)
Angles in a peatagon = 3x130
5¢o — 90 — 115 - j2 5 = 210

3 SC = 210

. N = 70
2 < = / "['— (®)

B

(Total for Question 8 is 5 marks)
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w=56x10"
d=14x10"

(a) Work out the value of 7.
Give your answer in standard form correct to 3 significant figures.

(/.cf,uo"f)j

= 45i17.539
= 4520 35}

i |
.52 xlo r— 4.52x(6 |

w is increased by 10%
d is increased by 5%

Lottie says,
“The value of T will increase because both w and d are increased.”

(b) Lottie is wrong.
Explain why.

I 0x 5 éx10"°

—_— —~—— i
—
-—

4 3
(@r‘l OSXx 1.4 xI0 )

= G400
3
= (fc/. x /O

LY 9 x /0 L% 52xld

[The denomunaky.. inccla)éd . éfj et Than The chlW£ra.1"rrj

.02 > 0.
(Total for Question 9 is 4 marks)
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53 10 Here are three lamps.

S lamp A lamp B lamp C
BE
s iy
f:lh X,
& ; ’ '
A
m
=
Jo
Sl
=

Lamp A flashes every 20 seconds.
How many times in one hour will the three lamps flash at the same time?

Lamp B flashes every 45 seconds.
Lamp C flashes every 120 seconds.

The three lamps start flashing at the same time.

20 200

Lem = 360

(Total for Question 10 is 3 marks)
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11 In 2003, Jerry bought a house.

In 2007, Jerry sold the house to Mia.
He made a profit of 20%

In 2012, Mia sold the house for £162 000
She made a loss of 10%

Work out how much Jerry paid for the house in 2003

€A x -2 X 0.9 = /162000

| VAVSHIMEIEMIONGG

/. 2x 0.9
- /50000

£.450.00.0..

(Total for Question 11 is 3 marks)
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12 The graph shows the volume of liquid (L litres) in a container at time ¢ seconds.

16
14

12

10 |-

Volume
(L litres)

oo

0 1 2 3 & 5 6 ¥ 8

Time (¢ seconds)

(a) Find the gradient of the graph.

4

i —— = /- S—

¢

(b) Explain what this gradient represents. .

Ra*eorwa‘f‘ef?[‘/au-ev . lhe number- .

O]’[!f(25891\jfﬂ,‘on"€Caﬂ‘[‘mm{ €7 Yo |
(1)

The graph intersects the volume axis at L =4

(c) Explain what this intercept represents.

o Tne nwumbes ok Litces. cf.. wolec o /R

Cortainee Ak IR SOl
(1)

(Total for Question 12 is 4 marks)
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13 Here are two similar solid shapes.

A B

surface area of shape A :surface area of shape B =3:4

The volume of shape B is 10cm®

Work out the volume of shape A.
Give your answer correct to 3 significant figures.

A8
33_", S'Vlf’{“c*? e e o~
32  Leaghih
EVETR Volum e
,13&3\{—3 = 6.495419...
23 7

el

(Total for Question 13 is 3 marks)
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14 There are 16 hockey teams in a league.
Each team played two matches against each of the other teams.

Work out the total number of matches played.

/6 x I5 = 2490

(Total for Question 14 is 2 marks)
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15 The graph shows the speed of a car, in metres per second, during the first 20 seconds of L
a journey.

30

Speed -
(m/s) 20 :7

1§58 55 e HECEE 5edfERHH RERHERHHE Al
0 E—_ { O i i

0 5 10 15 20
Time (s)

v

(a) Work out an estimate for the distance the car travelled in the first 20 seconds.
Use 4 strips of equal width.

fx‘szl = &§&

21+ 28 5 = )25
2

23 t32y5 = I50

585 +)25 +)506 +7167.5 = 497 S

9‘?75 metres

3)

) T 0 0 A
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(b) Is your answer to part (a) an underestimate or an overestimate of the actual distance
the car travelled in the first 20 seconds?
Give a reason for your answer.

odadereshimal : tne dotal ol wady e
LIS nek ncuded o e deagle +AopLzivs

(Total for Question 15 is 4 marks)
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16 The nth term of a sequence is given by an®+ bn where a and b are integers.

The 2nd term of the sequence is —2
The 4th term of the sequence is 12

(a) Find the 6th term of the sequence.
T -
a(a) +b(2) = -2

c'fafib:’2®

a(q.)z - b{‘f):/?“

J6a + ¢+ = /2 @

- = 9 dow + b = "J 1 .
‘ o+ B B 2(6) - 5(6)=¢2
2) = % o :
2 o = Y Lf’Q_
3

(4)

(i

- —

4 +t e = - {
b = — S
Here are the first five terms of a different quadratic sequence.

0 2 6 12 20

(b) Find an expression, in terms of n, for the nth term of this sequence.

6 2 e 12

2 o G
.:L v
20‘—:2_ .5a+29'2' o+ b ¥ = 0
o = | 3 v =2 l -1 &6 =0

(7
fe

)
e J

(Total for Question 16 is 6 marks)
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Work out the length of AD.
Give your answer correct to 3 significant figures.

?c _ rd, 8§

— —— —

S/ n 3y S/ o]

S, 10 7

Al

7. 52247, .

; ' y & "7. 57'7 Ced 3(;
i ; _ //
az = //-?2 i 7. 39 2’( 9)[

N
|

172:.85.

12 147 ..
= 130 (3s5)) e

(Total for Question 17 is 5 marks)
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18 (a) Show that the equation x*+x =7 has a solution between 1 and 2

s (1)2+40) = 2
(2)° +(2) = 10

147 ancl o » 7 ont LNl éy e}the, 57ck @
: solahen bvetweea | and 2

. VIVSIHLNIIUMMIONOG

(2)
(b) Show that the equation x>+ x =7 can be rearranged to give x= /7 — x
L F - -
3
x = 7 —x
(1)

(c) Starting with x, =2,
use the iteration formula x , = /7 — x, three times to find an estimate for a
solution of x*+x=17

3 _ ;
o o =J“-7-(:Z) = 1.7099 75947

= 1 5&062
T, = U7 -pns = 17424
3T~ s = 1-7383%9 84

"

s

1. 738847 7

(3)

(Total for Question 18 is 6 marks)
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19 Here are two right-angled triangles.

6x+5

DONOTWRIEINTHISAREA

4 —1 12x + 31

Given that

. tan e = tan f
find the value of x.

You must show all your working.

f;.jig-\.j e

¢z -1 l2x 4+ 3/

)

x(12x +31) = (6 x+s) ¥$x -1)

(2% + 3ix = 2¢x* —6x +20x — §
12x* + 3/x = 2¢x% 4,4 x — 5
6 2 2% ~t79 = &

- o
o = (122 =26)(122 +1 ) Vg

—_— 2 o

2. 5 2o
© = ¢(3x -5) -3(%x+1)

/2

O =(3x-5)(¢x +1)

- b
— —

S = ¢
& l&ajhn

C annet nave « M‘E@QJ—‘ (Total for Question 19 is 5 marks)
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20 50 people were asked if they speak French or German or Spanish.

Of these people,
31 speak French
2 speak French, German and Spanish.~
4 speak French and Spanish but not German~"
7 speak German and Spanish_~
8 do not speak any of the languages
all 10 people who speak German speak at least one other languagle/-

Two of the 50 people are chosen at random.

Work out the probability that they both only speak Spanish.

| vawvsHINIUWMIONOG

¢ s - 3
- e
50 ¢7 2¢S

3

e —

(Total for Question 20 is 5 marks)
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ABCD is a parallelogram.
ABP and QDC arc straight lines.
Angle ADP = angle CBQ = 90°

(a) Prove that triangle ADP is congruent to triangle CBQ.

pp = 8C  cpposite siderin & f.wquubgm,u s
e_ﬁl'uu?i

ﬁl’;P:@CQ opfos;l’ﬁ M’ﬂ}ej nooa fﬂraﬂﬂloijrm
ove Q?M’

Adep = (nk Loth 90° Gven _

(vﬂ:jvuenf' A SA

(b) Explain why AQ is parallel to PC.

Ap = QAc¢ thiengix ADP s Cengraett T
Prieagie CRRQ

AFf and €C ast equal end fc{r.q,({a/(
PPCL 15 & fa/aWo(jyaM

A & a1l /9[ o€ &Ffaa ;,‘H ['34!3&_5 /.q
paallilegran - porallel. @

(Total for Question 21 is 5 marks)
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